
N = 1897
1897 circles in a circle

radius =   0.021518116376
ratio  =  46.472469175998

density  = 0.878366643492
contacts = 3468

 E.SPECHT
23-APR-2014

N = 1898
1898 circles in a circle

radius =   0.021511998058
ratio  =  46.485686605963

density  = 0.878329982743
contacts = 3655

 E.SPECHT
24-APR-2014

N = 1899
1899 circles in a circle

radius =   0.021504390083
ratio  =  46.502132639945

density  = 0.878171267640
contacts = 4813

 E.SPECHT
24-APR-2014

N = 1900
1900 circles in a circle

radius =   0.021496425938
ratio  =  46.519361073085

density  = 0.877983023421
contacts = 3517

 E.SPECHT
25-APR-2014

N = 1901
1901 circles in a circle

radius =   0.021494832217
ratio  =  46.522810222100

density  = 0.878314870704
contacts = 4499

 E.SPECHT
25-APR-2014

N = 1902
1902 circles in a circle

radius =   0.021484963499
ratio  =  46.544179610324

density  = 0.877970154732
contacts = 4806

 E.SPECHT
25-APR-2014

N = 1903
1903 circles in a circle

radius =   0.021483844257
ratio  =  46.546604416610

density  = 0.878340238442
contacts = 4547

 E.SPECHT
26-APR-2014

N = 1904
1904 circles in a circle

radius =   0.021478801852
ratio  =  46.557531788373

density  = 0.878389320810
contacts = 4808

 E.SPECHT
26-APR-2014

N = 1905
1905 circles in a circle

radius =   0.021474831268
ratio  =  46.566140033417

density  = 0.878525760035
contacts = 4606

 E.SPECHT
27-APR-2014

N = 1906
1906 circles in a circle

radius =   0.021471914903
ratio  =  46.572464753730

density  = 0.878748204994
contacts = 4574

 E.SPECHT
27-APR-2014

N = 1907
1907 circles in a circle

radius =   0.021465895025
ratio  =  46.585525496335

density  = 0.878716326090
contacts = 3684

 E.SPECHT
28-APR-2014

N = 1908
1908 circles in a circle

radius =   0.021458471159
ratio  =  46.601642427463

density  = 0.878569098405
contacts = 4796

 E.SPECHT
28-APR-2014


